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16P/207/8
No. of Questions /¥t %\ sy - 150
Time (®RF : 2 Hours /a2 Full Marks/qurfs : 450

Note : (1} Attempt as many questions as you can. Each question carries 3 marks,

(2) If more than one alternative answers Seéem to be approximate to the

aﬁwﬁmhﬁamagrmtmmﬁ,mﬁwmm

2l
1. Which among the following planets is smaller in size than the Earth?
(1) Saturn (2) Jupiter (3) Neptune (4) Venus
ﬁqﬁ%aﬁa—m%wﬁq&ﬁﬁiﬁaé?
(1) wfy (2) Jeefy (3) T (4)
(180) )
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2.

Which among the following planets is the second largest one in the solar
system? '

(1) Mercury (2) Earth (3) Saturn (4) Uranus
ﬁqﬁﬁaﬁq—muﬁmﬁmmq\mma@%%?
(1) 38 @) Ye @) W () I

Which imaginary line is located at zero degree latitude divides the Earth into
northern and southern hemisphere? :

(1) Equator (2) Meridian

(3) Tropic of Cancer (4) Tropic of Capricorn

(1) fgea @ (2) = (9) % @ (4) "L TG
Ozone holes are more pronounced at |

(1) Equator (2) Tropic of Cancer

(3) Tropic of Capricorn (4) Poles |

s fog, <G WL I R

(1)ﬁgaqi@%‘»w (2) T @ F I

3) R F T (4) gt |

Which of the following is not associated with volcanism?

(1) OxboW Lake (@ Dyke (3) Crater (4) Batholith
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= § @ 39 sy frar @ eafg T8 27

(1) TgdE  (2) wHE (3) % - (4) Senfery
The mass of water vapour per unit volume of air is known as

(1) relative humidity (2) specific humidity

(3) absolute humidity (4) variable humidity

pR O P  E CS —
(1) "0l s (2) ffte o (3) Pdw W (4) WRafa s

The hottest planet is

(1) Mercury (2) Venus (3) Jupiter (4) Saturn
=l ™ 7R R

(1) 39 2) T (@) Tewh @) W
Residual hill in the desert region is known as

(1) Peneplain (2) Inselberg (3) Playa - (4) Stalactite
T 85 4 A T A e g

(1) ¥ @ W () ) S

Which of the following represents a process of chemicg] “’Cathering?

(1) Thermal expansion and contraction
(2) Mass exfoliation
(3) Hydration

(4) Frost action

P.T.0)
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e & @ HH- TEERE WEd % WA H i@ 7

(1) 9 wER vE A= (2) 985 AUVEEA
(3) SeRIH (4) gom

10. The most ideal condition for chemical weathering is found in
(1) cold and dry region (2) hot and humid region
(3} hot and dry region | (4) cold and humid region
e e ¥ o e R w o }
(1) Mo @ gon K@ A (2) 3 T I W A
(3) 30 W Y T W () Tha T o oW A

11. Instrument used for recording intensity of earthquake is known as

(1) Barograph (2) Hydrograph  (3) Pantograph (4) Seismograph

frg o @ g B fow A I 2 @ e R
(1) STUTH (2) TEGHTE (3) =T @) ErT

12. Which factors influence ocean currents?

(A) Earth’s rotation
(B) Winds across the ocean

(€
(D) Convection currents

pDensity of the ocean water

1) (@), B and ©) () (B), (C) and (D)

B A,B,C d D
@ m, ® s © @) (A), (B), () and (D)

(180)
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ﬁq-@mmmaﬁaﬁwﬁam%?
(A) gt =1 i
(B) ¥4z % R YR i ga
(C) T9z 91 & T

(D) Hagtg grnd
(1) (A), (B) @ (C) (2) (B), (C) @ (D)
@ @), B @ (D) (4) (A), B), (C) W (D)

Which of the following influence the oceanic salinity?
(1) Land (2) Wind
(3) River water (4) Ash from volcanoces

e 4 & 9 aemia wmwe W wf w27
(1) == (2) v @8) 7 v (4) e

In which of the followin

g oceans, the direction of oceanic current is reversed
with season?

(1) Pacific Ocean (2) Atlantic Ocean
(3) Indian Ocean (4) Arctic Ocean
MﬁﬁﬁmmﬁmmamHWWﬁ%mmm%?
(1) 9T wRErR (2) Sreeifes wEmmR
0 &= wEw O —

5
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15. Which of the following represents age of the Earth?

(1) 4-6 million years (2) 46 billion years
(3) 137 billion years (4) 20 billion years
fr=r § ¥ F-mr geht i g H g 27
(1) 46 fuferm ad ) 46 e T
(3) 13-7 faferm = (4) 20 fafera =d
16. Which of the following heavenly bodies have been excluded from the list of
planets?
(1) Uranus [2) Neptune (3) Pluto (4) Mars

ﬁﬂﬁﬁﬁamﬁsﬁnﬁaﬁwﬁmm&mw%?
(1) 3 (2) = (3) =& (4) "

17. Which of the following represents the inner planets?
(1) Planets between the Sun and the belt of Asteroids
(2) Plancts between the Earth and the Neptune
(3) Planets in the gaseous state
(4) Planets without satellites
A A A ot T AR RY

A . L LI
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19.

20.

21.
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Who among the following was the first to consider the possibility of Europe,
Africa and America having been located side by side?

(1) Alfred Wegener | (2) Arthur Holmes

(3) Edmund Hess (4) Abraham Ortelius

g § @ e wdwem U, R R Rt ¥ Wy fRm @ R EwET =%
7 |
(1) BT I (2) IR T (3) TeHS TE (4) SmTER SefEm
Finger lakes are commonly formed by the action of

(1) rivers (2) waves (3) glaciers (4) wind

fem caa &1 fmi aEe e g Fffa g 22

(1) 7@ (2) @ (3) fewe (4) TR

The concept of normal cycle of erosion was propounded by

(1) Albert Penck | (2) W. M. Davis
(3) Charles Darwin (4) A. N. Strahler
A 3G 9% I EuURI fEh g & T ?

(1) e deh @) o o g
8) e T (4) To We HTH
Block mountains are formed by
(1) folding (2) faulting
(3) volcanic action (4) denudatiop

7

(PT.0,)
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22.

23.

(180)

A6 Ydd fhed w9 27
(1) s (2) 9¥H (3) SaregEt TR (4) sERTEA

Most of the weather phenomena is observed in
(1) Troposphere (2) Stratosphere (3) lonosphere (4) Mesosphere

(1) gwiza & (2) TEaW Head o (é)aqmrisaﬁ (4) weHEe #

Relative humidity refers to the
(1) amount of water vapour present in the atmosphere

(2) ratio between the quantity of water vapour present and the maximum
quantity that the atmosphere can hold at a given temperature

(3) ratio between the quantity of water vapour and oxygen present in the
atmosphere at given time

(4) ratio between the quantity of ice and water in the river

wie g guiar @

(uarrgﬁ@aﬁatrﬁﬁﬂmwﬁwaﬁ

) s § SR T A A A S S o S A
LI
3)Mﬁqmﬁﬂmﬁw@ﬁ_wﬁwwaﬁmﬁm%
FIE

(4);|aﬁ3qasam?ﬂt{éa¢%aﬂmaﬁ

(

8
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Which of fhe following belts refer to doldrums?
(1) Calm near the Equator (2) High pressure
(3) Low rainfall (4) Moderate humidity

g e d @ v B owey §0
(1) fysa-twr ¥ ww # wig a3 (2) 39 W
(3) fm=a i ' (4) U9 adar

Convectional rain is Very common in

(1) Equatorial region (2) Monsoon region

(3) Coastal region (4) Coniferous forest region
HaEta a9 wgd & e @

(1) Tayad yew & (2) T wRwr A

@) v wm & (4) Frorrtt =37 gy F

The average salinity of the ocean water ig

W20 em/ke (2 30 em/ks  (3) 35 gm/kg (@) as gm/kg
TR I R shga o Bt R

(1) 20 mm/fEmm (2) 30 /e (3) 35 i/ fergr (4) 45 1 /fam

Which of the following seas has maximum salinity?

(1) Dead Sea (2) Baltic Sea (3) Red Sea (4) Whit 3
: : € Sea

(P.To,
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28.

29.

30.

fr @ Fra g B v TR 27

(1) 7@ I (2) aifess AR (3) T WK (4) H%3 W
Which of the following is the warm ocean current?

(1) Gulf stream (2) Humboldt current

(3) Benguela current (4) Peruvian current

A § @ FA-dt 3o wgh a0 7
(1) Teh W (2) THEIEE T (3) STE U (4) UE 91

Which of the following is a cold current?

(1) North equatorial current (2) Brazilian current
(3) Kuroshio current (4) Labrador current
A & & FA-d 3 ST R?

(1) 30 fagedia =1 (2) sfifed ard

(3) FNRE g (4) SSTER G

On a globe, lines of latitudes are

(1) semicircles of equal length (2) circles of same radii

(@) circles with varying centres (4) straight lines
e & i e ?
) e et A o) T @ e W g T
(3\343_%#&%@%%@ (@) T TE

10
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31. The RF of four maps is given below. Which of these have the smallest scale?
TR AARE F Fofio f9 Ry & P F A e ww W@ B 27
(1) 1:25000 (2) 1:40000 (3) 1:60000 (4) 1:100000

32. Scale of a map refers to
(1) size of the map
(2) size of the area represented
(3] ratio between distance on the map and distance on the ground

(4) ratio between different maps of the same area
Tt ot = oo gotar 2

(1) aHfaT &1 3R

(2) 3 M = F R

(S)WFlﬁﬁmﬂE@aqhwamﬁ?@mma
(4) T @ &% & Aftm ARl % @ @ sEem

93. The equatorial diameter of the Earth is
(1) larger than the polar diameter
(2) equal to the polar diameter

(3) smaller than the polar diameter

(4) equal to twice the polar diameter

(180) . Il
(PT0,)
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geeft % fagadia =

(1) gdr =@ @ A 2

2) g =\ F TR R

(3) g = & A B

(4) g AW F A F TOR 2

34. The longitude determining Indian Standard Time passes through

- (1) Chennai (2) Allahabad (3) Delhi (4) Mumbai
T WS T 3& fuffa F@ aefl TR W@ e R
(1) <% @ Q) TEER & (@) RS @ @ = A

35. A great circle is

(1) a very long circle bounding the whole Earth
(2) the polar circle of the Earth

(3) a circle representing the orbit of the Earth

(4) a circle which bisect the Earth into equal parts -
w 9% 0 ¢

(1) Tt g A A T G

(2) gt 1 LA T

@) ti@%a;maﬂﬁﬂﬁmqﬂ
m@qﬁag@aﬁamwﬁmﬁ

12
(180)
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36. The shortest distance between any two places on the Earth is measured

37.

38.

(180)

(1) along the great circle route (2) along the meridian
(3) along the latitude (4) along the equator
7 W R Qe ¥ e o o R

(1) 9% 39 o % =wam (2) TR F TR

(3) 7eTer % wEr (4) fagaq a1 % @ert

What is the basic purpose of drawing diagonal scales?

(1) Reading fractional distance accurately

(2) Estimating approximate distance only

(3) Showing distance in miles and kilometres simultaneously

(4) Showing distance without using any unit
ﬁmmaﬂﬁmq@ﬁw%

(1) P g8 g @ vt F fn

(2) F39 slm g I ¥ R

(8) e fe o vt § o Ren % g
(4) Tt = % form o8t Rl % e

What is indicated by Spacing of contour lines?

(I) Slope’s direction (2) Slope’s degree

(3) Landuse (4) Relief features

3
(PT.0,)
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s T SUe @ @ quian S 27
1) 7@ & B (2 Tm W m (3) i I (4) SRR A

39. The ruggedness of skyline is shown in

(1) composite profile (2) projected profile
(3) superimposed profile (4) serial profile
fafte % Ian-deE H Ui @ @

(1) fafim ofedfew @ (2) vaft Th=sfiw &
(3) =RfEm i & (4) Aot wfedfem @

40. The scale of a map is 1 cm = 2-5 km. Its RF will be

et grafas &1 a9 1 cm = 25 km 31 3@ Jofdto Frm
(1) 1:250 (2) 1:2500 (3) 1:25000 (4) 1:250000

41, If the address of a toposheet is 53 I% Its RF will be
| uﬁ%&ﬁmﬁﬁmﬁamqﬁsai{o@mgoﬁo@m

(1) 1:20000 (2) 1:50000 (3) 1:125000 (4) 1:250000

42. Find out the steepest gradient among the following
o 1 @ fed o @ yaurEr g e

(1) 1:50 (2) 1:100 (3) 1:500 (4) 1:1000

14
(180)
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Pressure condition on a map can be shown with the help of
(1) Isobars (2) Isohytes (3) Isotherms (4) Isonephs

56 TRRE W o9 £ R @ el ¥ R 3 @ 9 @ @ wea fam S
27 ' |

(1) JzErewE (2) B (3) mEEieE (4) AT
The bearing of 200° can be converted to reduced bearing as

QOOO%Wﬂmﬁaﬁﬁﬂﬁuﬂaﬁﬂﬁﬁmmm%

(1) S 70° E (2) S 70° W (3) S 20°E (4) S 20° W

When two or more contour lines meet at a place, the slope of the land will be

(1) steep (2) gentle (3) uniform (4) vertical

@ A W AE s el wE w e ¥ R et 2w @
(1) ot (2) 3 ¥ (4) et

Mercator’s projection is used mainly for

(1) distribution map (2) astronomical map

(3) polar area map (4) navigation map

AR VAU O 9T €9 § wer f

(1) frew amfE o (@) wwe wARE 3

(@) fm & At () N gEeH TRy
15

(P.T.0,)
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47. The Survey of India was established in the year
w6 e v frw ad g o

(1) 1867 (2) 1767 (3) 1967 - (4) 1947

48. In prismatic compass survey bearings are measured with reference to
(1) geographic north (2) grid north
(3) magnetic north (4) assumed north

ﬁ?ﬁq%wﬁﬁﬁwqﬂﬁﬁwﬁﬁlﬁﬁﬁmaﬁﬂﬂﬁﬁﬂm%?
(1) Wmfers I (2) fire 3w (3) T IR (4) Hfedd I

49. Mt. Etna, an active volcano, is located in

(1) Italy (2) France (3) Egypt (4) Dubai
(1) seeit ® 2 w@d (3) firm # (4) g8 &

50. A diagram showing average monthly temperature and rainfall conditions at a
particular station is known as

(1) Hythergraﬁh (2) Climograph  (3) Thermograph (4) Barograph
it DY W 3 AR aE o AW Rl B Wi A o #oFRd @
(1) ST (2) FAEHIG (3) oI (4) ST

51. Who among the following coinet.:l the term Geography?

(1) Herodotus
(4) Aristotle

(3) Eratosthenes

16
(180)
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54.
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Which of the following questions is related to the cause-effect relationship?

(1) Why (2) What " (3) Where (4) When
ﬁwﬁﬁﬁq-mmm—mmﬁmﬁﬁa%? _
(1) =t (2) =m (3) gl (4) %=

Equatorial regjon ig characterigeq by rainfall

{1) throughout the year (2) mainly in Summe,
(3) mainly in Winter | (4) mainly in Autumn
T R A Ayaey wy ¥ v g 2
(1) " () geza: mf 3
Q) ge9: w2 § () em: "vosie
Mediterranean region receives rairifa]
(1) throughoyt the year . (2) mainly in Summer
() mainly in Winter (4) mainly jp Spring |
TR 320 & af g 2 |
(1) |rinR (2) gwwr: mff
() Jera: w12 3 (%) §0: IHq §

17

(P.T.0)
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55. Distribution of human population is highly uneven mainly because
(1) large areas are mountainous
(2) large arcas arc extensive deserts
(3) there are dense forests
(4) only certain regions are favourable for human habitation

Wﬁﬂﬂw%mﬁ*mmmg@m%

(1)33é1'=l$1q‘c§?ﬁ11é1?1
tz)a%aamfa@amﬁam
(3)3@ﬁwa=r% |
(4) Foa FO T mawﬁm%m%

56. Population pyramid is 2 diagram which represents

(1) annual growth rate (2) age and sex composition

(3) urban and rural composition (4) occupational structure

mﬁ@lﬁﬂﬁi@@m%ﬁﬁWW%

(1) A fe = ) v @ fer T

(3) A w@ AH :reell (4) SEEEs G
57 Shifting cultivation is also known as Jhooming in

(1) North-Eastern India (2) Southern India

3) Central India (4) Gangeuc Plain

18
(180)
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WA FN F g % 9w ¥ s o @
(1) M-gd 9ra & (2) afémft v &
(3) wex ww i (4) T % A A

58. Most of the corn produced in USA is
(1) directly consumed as grain
{2} used as animal feed
(3) used for preparing cornflakes, corn syrup, etc.
(4) used for manufacturing industrial products
RECIRU B e R U e S —
(1) ¥98q: G & &9 F 3w gy 3
(2) 530 F IR % v § 3w gy 2
(3) ﬁﬂm,ﬂﬁﬁmmﬁ%mm%
(4) MNF I fafmtor % wm e R

S9. Which of the following is not a resource creating factor?

(1) Man (2) Nature (3) Culture (4) Settlement

ﬁnﬁﬂﬁqmﬁufwmaﬁ%?
(1) W (2) wFfd (3) wwpfa (4) Tt

60. For which country, this statement seems to be true?

“Resourcelessness is the greatest rcsource.”

(1) China (2) Japan (3} India (4) Usa

(180) 19
P.1.0,
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fira 3w % o # @@ P T A AR
mwﬁmm%ln
) (2) S (3) (4) FoTHoTo

61. 1 ing i
1. Which of the following is not an approach to study Economic Geography?
(1) Commodity Approach (2) Regional Approach
(3) Principle Approach (4) Biophysical Approach
fm & A B-m s e @ SO &1 IUE g 27
(1) I8 IJ9°™ (2) &g saT™ (3) Rrgra 3P (4) 3g-vifow IUT™

62. The concept of locational triangle was given by
(1) Alfred Weber  (2) D- M. Smith  (3) C. D. Harris (%) W. Christaller
sy Bge ) vaeron @ T
(1) IEhs R F G ' 2) Do wWo B & T
(3) o Fo @ F T | (4)?@%%1%@11

63. The ideal location for an iron and steel industry is
(1) near the coalfield

(2) near the iron ore

(3) near the market

(4) aplace where raw materials are available at minimum transportation cost
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(180)
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m@mmﬁm%mmm%

(1) Foemdy % wwdw

(2) R T=F F T

(3) MR & Tl
M@Qmwmaefwmawwﬂmmmmﬁ

The first Arab Geographer to give an account of the periodic wind was

(1) Al Masudi (2) Ibne Hawkal (3) Ibne Yunus (4) Al Idrisi

(1) 3@ g @) = Ew (3 @ (4) ¥ gefsdt

Identify the geographer on the basis of given facts :
(a) He was a great geographer of 17th century.
(b) He lived in Netherland.

(c) He died at the age of 28 years,
This geographer was
(1) Emmanuel Kant (2) Varenius
(3) Humboldt (4) Blache

fow M e & SR | Tﬁﬁmﬁ%ﬁﬁﬁﬁq:
(@) 3 1791 7 % % Te e o
(b) 3 et & =3 4
(c) I7ht gy 28 ¢ Y 1w & o)
3 yierdar 9
(1) ¥gee w2 (2) Fifiy (3) Tz

21

) gy
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66. Influences of Geographic Environment was written by
(1) P. M. Roxby (2) Carl O. Sauer (3) Dudley Stamp @) E. C. Semple
Influences of Geographic Environment fa@n T
(1) flo To Tawsl & G (2) F1d 3o L F T
(3) T W & g (@) $o o FmE F T

67. Whose statement is this?

«The role of man is like a traffic controller.”

(1) Griffith Taylor ' (2) A. J. Herbertson

(3) 0. H. K. spate (4) George Tathom

o PrmE FH R7
“qﬁaﬁiﬁm@mﬁmaﬁméf’

() fafea = (2) To Ho FHE

(3) 3o THo Fo T (4) St 2o

68. Who among the following is not & determinist?

(1) Humboldt (2) Ritter (3) E. C. Semple (4) Blache

ﬁﬂﬁﬁﬂqﬁaﬁma‘—rﬁ%?
(1) A @) R

tween the concept of deter

(3) $o HWo FA (4) AT

minism and possibilism 18

69. Middle path be
(1) Neo-determinism (2) Probabilism
(3) Dualism (4) Pragmatism

22
(180)
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ﬁwﬁamaﬂtéw%ﬁamm(mtrﬁ)%

(1) F-fafEr  (2) GvrerEr (3) geame (4) SRomETe
Which of the following events did not happen in 1859 ?

(1) Death of Humboldt (2) Death of Ritter

(3) Publication of Origin of Species  (4) Birth of Blache

B § 3 -t g 1859 $o & 7 w7

(1) Fweitee i 7y | (2) fz $ gy

DRSNS IE LR e g— (4) s F1 T

Whose statement is thig?

“Present is the key to the pagt.”

(1) C. M. King . (2) W. M. Dayis
(3) James Hutton (4) W. Penck
T Iewm s @7

“TdUE i @ Tl 21"
(1) #o o fir (2) 3= wo 2fyy
(3) 9 g (4) S0 ¥
Morphology of Lﬂﬂdsoqg;e_is written by
(1) Carl O. Sauer (2) E. Huﬁﬁngton
(3) Patrick Geddes (4) w. Christalle,

23
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Morphology of Landscape F @ &
(1) o 3o TR (2) 3o el (3) iR 1MW

an Ecology” the concept was propounded by

(4) Sesgo e

73. “Geography as the study of Hum

(1) H. H. Barrows (2) W. Bunge

(3) H. J. Mackinder (4) P. James
“mﬁammﬂfﬁzﬁ@ﬂam%wﬁ” sraumon fen
(1) THo Tdo IS & T @) s T F T
@) T Fo AE F T (4) do T8 F T

74. The Winter Snow-house of Eskimo is known as

(1) Toupik (2) Igloo (3) Yurt (4) Sledge
e 5 v R # e %

(1) gf (2) ¥ (3) I (4) &

75. Semangs are the primitive group of people living in

(1) Central Africa | (2) Borneo

(3) Brazil (4) Andaman Islands

agi A W Fam i W T

(1) 9% afw o (2 St o (3) I H (4) sFeHT ETEE 3
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78.

79.
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Transhumance is mainly carried out by people living in

(1) Polar region (2) Taiga region
(3) Tropical region (4) Mountainous region
wgyEE = d @ el F anll & g e S @7

(1) gT & (2) TAM &

(3) 3 wieady & (4) TEdE &

The total population of an area divided by cropped area is referred as
(1) agricultural density (2). nutritional density

(3) arithmetic density (4) populaton density

el o | 9 A A PN &7 § fowlE F W yw @ 2
(1) FW w=7a (2) W WS (3) i s (4) STEn e

In which of the following countries, two-third of the population is concentrated
in six of its major cities?

(1) Myanmar (2) Spain - (3} Argentina (4) Australia
R R R T R Q-feed e a F o weed A ¥ 4
(1) ®MR (2) @ (3) WM (4 SR fem

The high density of population in West European counties ig mainly due to one

of these reasons
(1) improved agriculture (2) fishing
(3) dense forest | (4) industrialisation

25
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80.

81.

82.

(180)

Wﬁlﬁqfrcﬁaéﬂﬁﬁmwsawg@azﬁmﬁ@%aﬁ@%m%

(1) 39a Hiy PRESEIRE (3) W =H O Cicaus

The most densely populated regiohs of Canada is

(1) Prairie Province (2) Maritime Province

(3) St. Lawrence Lowlands (4) Interior Lowlands

FTET F Fod T a1 & 2 |

(1) 38 . (2) Afedw w=

(3) "z atg A et (4) arates fraeh s

The number of children dying in their first year per thousand live birth is called
(1) death rate (2) standardised mortality rate

(3) infant mortality rate (4) life expectancy rate
m%ﬁﬁﬁﬁﬁﬁﬁ@ﬁwﬁﬁ%

(1) T @ 2) T T R (@) R T R (@) SR e
Developed countries of the world are suffering from some population problem.

Most important among them are
(1) ageing problem (2) malnutrition
(3) unemployment (4) lack of basic amenities

fva ¥ frfd o0 $O TS e @ 9 ® ¥ T w e R

(1) g A T @F
@) ¥ (4) T glRenst w1 v
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Demographic Transition Theory shows that the main determinant of population
growth is the nature of balance between

(1) immigration and emigration (2) fecundity and fertility
(3) fertility and migration (4) fertility and mortality

weEn gwn g wofa @ 6 wEEw 9y % g9 FRU W\ A $ 99 B
e ) T ¥

(1) SHEET T IEEA (2) SR TS SEEE

(3) JHAT Td Ta™ (4) SSFMAT TE Hedar

Which type of economic activity is fishing?

(1) Primary (2) Secondary (3) Tertiary (4} Quinary
TSR fFe aw # anfde frm 27
(1) afs (2) e (3) T (4) 9@

Conservation of natural resource aims at one of the following
(1) complete ban on the use of natural resources
(2) partial restriction on the use of natural resources
(3) rational use of natural resources
(4) profitable use of natural resources
TIHiEh T W W IR e A d o 2
(1) Sl w8 & I W o wfey
(2) THicH GEEH F IWM W iy fEE
(8) gl w1 fEwD!
(4) YFHF GEEF I AT 35
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86. Mesabi range in USA is known for

(1) iron ore (2) coal

(3) petroleum (4) bauxite

S T afE B e I e S 2

(1) ez 3@ & foqu
(3) wferm ¥ forw

(2) ®en & fow
(4) afFarEe % fag

87. The most favourable condition for generating hydel power is in

(1) Nepal (2) Congo Basin

(3) Switzerland  (4) Canada

Sl I % foe waifus ogEe IRfefd @

(1) o= ® (2) =m afEm #

(3) feEe §  (4) &0el ¥

88. Chuquicamata in Chile is famous for

(1) copper (2) salt
Rl & ghee TRE R
(1) alar & T

(3) T & Tl

89, Pygmies are inhabitants of
(1) Congo Basin

(3) Polar Region

(1) i 3R
@) wda &1 F

(180)

(3) aluminium (4) gold

(2) & & feru
(4) q % fa

(2) Australian Plain

(4) Kalahari Desert
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91.

92.
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The concept of crop combination region is given by

(1) J. C. Weaver (2) L. D. Stamp (3) D. Whittlesey (4) J. E. Spencer
TH-FASA You A EuRn &

(1) Sto Ho dfar 3 (2) To Fo WY A

(3) Ho g 3 (4) Vo Fo W= 3

Von Thunen’s theory is mainly criticised on the ground that
(1) it has not taken into account the technological development
{2) concept of economic rent was €rroneous

(3) concentric zonation pattern is not found arourd the cities

(4) locational rent does not remain uniform

T o ¥ Rigrr f el gege: @ e w 8
(1) T 0 R w few @ R

(2) MIF T # smewon 3Rq o

@) TR & W R wHE v whew T8 T s
(4) ST T T T T T

The word ‘isodapane’ is used in

(1) industrial location (2) demarcation of industrial region

(3) classification of climate
IS ¥ YT W @ .
(1) Siefie wamr 3 @) T R F dwizy
(3) ey i (4) SE T amy
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93. Which one of the following is a footloose industry?

(1) Cement (2) Paper (3) Hosiery (4) Sugar
frm o @ S9-w uEE I 87
(1) g (2) FW (3) Biforrd (4) it

94. Which one of the followinig is the largest railway track?

(1) Trans-Canadian Railway (2) Trans-Siberian Railway

(3) Trans-Australian Railway (4) Oriental Railway

A A F-m Eed T e R

(1) zra-fem Y () g aEAE Y

(@) gra-sie i e (4) snfeies Temml
95. Which of the following is not a member of SAARC ?

(1) India (2) Pakistan (3) Sri Lanka (4) Turkey

= i & W g W a7

(1) ¥ (2) R (3) e (4) TH
96. '-I‘hc biggest Urban Agglomeration of the World as per 2011 data is

(1) Tokyo (2) Delhi (3) Mumbai (4) New York

mﬂma—gmﬂma& 2011 ¥ ¥iHS H FTAR R

) 2 @ 3) &% (4) =T
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97. Which of the following Lakes is not considered in five great lakes?

(1) Superior (2) Michigan (3) Huran (4) Winnipeg
fie § @ F4-9 ehe i wew o e T 27

(1) g (2) Pftww (3) &= (4) e

~ 98. Which of the following is not an approach to regional planning?
(1) River basin approach

(2) Metropolit;;m approach

(3) Town and country plannidg approach

(4) Industrial development approach

ﬁwﬁﬂﬂa-mmﬁﬁmmmqﬁ%?
(1) 98 9f" Iy (2) wEFTT 39
(3) W 7 W FrieE 39T (4)aﬁﬂ’rﬁimﬁmqu

99. Which geographical region is famous for farmmg of citrus fryjgo

(1) Equatorial reglon (2) Mediterranean region

(3) Western Eurgpean region (4) Desert region

ﬁﬁﬁﬁﬂq—mmm@gwwﬁ@ﬁ%mmﬁ?

(1) fayadia & [Q)W%‘
(3) W qofa & (4) FEET gy
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100. Which of the following scholars gave the concept of Human Development?

(1) Dr. Mahboob-ul-Haq (2) Dr. Manmohan Singh
(3) Prof. Moonis Raza (4) Prof. A. K. Dutt

e § & forg fige ¥ wWa frem & sEuRon Q7

(1) Tlo TEA-I-TF 2) o wiE e

(3) Mo FfE TN (4) Mo To Fo T

101. The Himalayas were formed due to
(1) Faulting of the Earth’s crust

(2) Accumulation of loess deposits
(3) Folding of the geosynscline, named Tethys

(4) Folding of the earth crust
%qraﬁﬂﬁﬂfﬂﬁmmﬁgam
NRGUER R () dreg Fdw % do @
(3)%fms[aﬁﬁlﬁaa={%m (4) qEdd # I F I

102. Most of the coal deposits of India are associated with

(1) Gon dwana deposits (2) Tertiary deposits

4) Vindhyan deposits
(3) Cuttack shelf (4)

mmaﬁ]ﬁmmﬁﬁnwﬁm%
) T FEa 8
(@) e T @
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106.

107l
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Hot springs are found in
(1) Rajgir (2) Jabalpur (3) Bhainsalotan (4) Mussoorie
RLIECROR: ol ST |

(1) TeriR (2) Faaq & (3) Fareizr & 4) Tg0 *

The highest peak of Satpura is

(1) Amarkantak (2) Maikal (3) Dhupgarh (4) Bandhavgarh
HAye $ watw =1 2
(1) & .(2) A (3) Yo (4) sivETR

The alluvial -tract between two rivers is called

1) Doab (2) Maidan (3) Taal (4) Diara
Q Al F dw ¥ v ay o g
(1) dom@ (2) tew (3) " (4) R

The Eastern Ghats and the Western Ghats meet at
(1) Palni hills {2) Nilgiri hills  (3) Anaimudi (4) Ooty

T w3k ofeht o five 2

(1) wrerft wargh & () Hsfil v 3

(@) s (4) 5 ¥

The largest river of Peninsular India is

(1) Godavari (2) Krishng ‘(3] Kaverj () Mahanag;
33
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108.

109.

110.

111.

(180)

(1) el (2) T (3) FAl (4) HEHE

Which river is known as ‘Tsang-Po’ in Tibet?

(1) Sutlej (2) Indus

(3) Brahmaputra (4) Kosi

fra 78 = foesa gtiy’ ¥ a@ } S0 w7

(1) et 2) fery (3) WA (4) ®ish
Which river is known as cultural divide of India?

(1) Indus (2) Ganga (3) Narmada (4) Godavari
frg 7 W W A AR o i

(1) Rry (2) ¥ (3) T (4) Temad

The term TRegur’ refers to
(2) black cotton soil
(4) alluvial soil

(1) laterite soil
(3) red soil

‘i{[{’mﬂmﬁl%
(1) e (Q)ﬂ?ﬁmﬁflls]araﬁ-gl @) e B

According t© 2011 Census, which of the Indian ‘States has highest population
cco

density?

1) Bihar (2) Uttar Pradesh
o Punjab (4) Madhya Pradesh
(3) Punj
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According to 2011 Census, the total number of towns in India is
2011£rwmaaamwaﬁmﬂaﬁt3m#w%
(1) 5161 (2) 7035 () 7935 (4) 8015

In how many categories, Indian Census hag classified Indian towns?

mewﬁm%wﬁaﬂamﬁﬁﬁmmavnﬁah%?
(1) 4 2 6 (3) 10 4 15

Which of the following cities is located on the bank of river Gangap

(1) Rishikesh (2) Delhi (3) Lucknow (%) Jaunpur
ﬁmﬁﬁm-mquiﬂ%ﬁmam%?

(1) Sfw (2) fegh 8) T (4) Sty
Bokaro Steel City is located 1n

(1) Bihar (2] Jharkhang

(3) Madhya Pradesh - (4) Chhatisgarh

A e R R 3 |

(1) foagm & (2) ¥RGe & Q) TR F s &
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116. The first university in India to start teaching of Population Geography is

(1) Delhi University (2) Patna University
(3) Aligarh Muslim University (4) Punjab University
TE o e W e e ¥ FeATH eI g

(1) Rt Freafrae 4 (2) e fwafeered 4
(3) g Hfeem freafiae A (4) vore foreaferened

117. Which of the following is tﬁc largest linguistic group of India?
(1) Sino-Tibetan (2) Sino-Aryan (3) Austric (4) Dravidian
P f @ 3 YA 1 e w1 g ww ¥

(1) fee-foresaq (2) fRAl-aT (3) :ﬂ‘l‘f@ﬁ (4) [AEICSE]

118. Which of the following is the main reason for female migration in India?
(1) Education (2) Employment (3) Business (4) Marriage
ﬁwﬁéﬂa—mmﬁ@mwwm%?

(1) Tem (2) TSR (3) W (4) faame

119. Which of the following facts is incorrect in the case of India?

(1) India accounts for about 2:45% of the world’s land area

(2) India accounts for 4% of the world’s water resources

(3) India accounts for 16% of the world’s population

.(4] India has the highest population density in the world
36
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1 4 @ F-w1 Fa wa ¥ o § e 27

(1) vRa % 9 fova & $a1 4 &1 2:45% 2

(2) W & T fIva F T @ wwem w1 4% 2

(3) wia & fowa ¥ FO HE T 16% P w2

,\4ymﬁwmmmm&n%

Which of the foHowing is non-renewable sources of energy?

(1} Hydel (2) Thermal (3) Solar (4) Wind power
7 2 2 oo = sl g 27

(1) Safagq 2) g - (3) &k (4) v IRk

Regional Planning -rclat.es to

(1) development of different sectors of economy
(2) area specific development |

(3) transportation development

(4) rural area development

#fla faler afan 2

(1) sriwan % fifim & #1 farg 2

(2) 97 N ¥ w3

(3) wfme * fawm @

(@) T & & few 2
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122. Which of the following is the longest National Highway of India?
fie § @ $9-91 Ra F ge o TP T R
(1) NH 1 (2) NH 2 (3) NH 7 (4) NH 8

123. Which of the following is not a plantation crop?

(1) Coffee (2) Sugarcane (3) Rubber (4) Wheat
= § & FH-w O A T 7
(1) = () T (3) T ) T

124. Which of the following is not correctly matched?

(1) India—New Delhi (2] Bangladesh—Dhaka

(3) Pakistan—Islamabad (4) Japan—Kyoto
frm o 4 ¥R w6 gafe T 7

(1) wra—¢ fegh (2) AHET—CTH
(3) TRREH—FE (4) STH-—FA

125. Which of the following is not correctly matched?

d. Shafi—Agricultural Geography

() M
(2) G. S. Gosa'l-—Population Geography

3) R. L. Singh-——Urban Geography

4) R. P. Misraﬂ-"PhySical Geography
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= 4 4 99 ud gafea T 22

(1) o THR—FN e (2) Sfto THo TETE—SHEEN Y
(3) Mo Teo Fr—Triy witet (4) Mo dto fig—sitfa e
"~ 126. A well-known Indian geographer died on 31st December, 2015. His name is
(1) L. S. Bhat (2) K. V. Sundaram
(3) P. Dayal (4) E. Ahmad
T gIg wRdR spieEr w1 A 31 R, 2015 i gA IFH W 2
(1) Wo Tho Wg  (2) Fo Mo ggw  (3) o TamEt (4) $o a7EHe

127. The ‘Bhwh’ climate of Koeppen is found in which of the following?

(1) Great Himalayan Region (2) Thar Desert
(3) Chhota Nagpur Region (4) Coastal Plain
Frfefen & & 7l 9 A Bhwh’ s v 37
(1) Jg femrer a3 (2) *m iram
(3) Bl &y (4) 78 Agw

128. Which of the following sets of Macro and Meso regi

. . ns were define
Town and Country Flanning Organisation of Indiao ated by the

(1) 13 Macro. regions and 32 Meso regions
(2) 15 Macro regions and 6] peg, w——
(3) 7 Macro regions and 42 Meso regiong
(4) 13 Macro regions and 35 Meso regions

(180) 39
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T T A i s o e ¥ g Pl § @ #6896 @
qem & % wqE @ g R T R

(1) 13 geg &7 3R 32 7ead & (2) 15 ge¢ &7 3 61 W &
(3) 7 gEe &a 3 42 "AeW &3 (4) ‘13 geg &9 3R 35 W &

129. Which of the following is a major immigrating State of India?
(1) Rajasthan (2) Uttar Pradesh

(3) Bihar (4) Maharashtra

e 3 Prafofga # @ fen o § wed SffU ST grar 87

(1) TSEIH (2) IR WA (3) fem (4) HEWTY
130. The statement “ Who rules the world island commands the world” is associated
with
(1) Heartland Theory
(2) Rimland Theory
(3) Stages of Economic Growth Model
(4) Growth Pole Theory
RW“@WWWW%%@HWWW%”W%
& @A Sea @ (4) MY T REN A
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Given below are two statements. One labelled as Assertion (A) and other labelled
as Reason (R). Select your answer from the codes given below :

(A) Most of the rivers in Africa are not navigable. _

(R) Rivers are non perennial and have shallow channels.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R} are true but (R) is not true explanation of (A)
{3) (A) is true (R) is falge
(4) (A) is false (R) is true
ﬁamﬁqwil%aﬁwwaﬂta@iﬁwm%mﬁﬁmwéx
R T F ¥ wd ghu . |

(A) b i aiftrmin TRt R 74 &)

(R) et Feerafeeht =i & wen s wreramt fovere 2
(1) (&) A R) I W R sk (), (A) F 7 =En 2
@) @ 3 ®) A T 2 A (R, (Awﬁwm#ﬁ%
(3) (A) &dt ® 3R (R) Trowr 2
(4) (A) 7@ R 3R (R) wA 2

(R) Narmada has few tributaries.
(1) Both (A) and (R) are true ang
(2) Both (A) and (R) are true but
(3) (A) is true (R) is false
(4) (A) is false (R) is true

(R) is the correct explanatigp of (A)
TR) is not true explanation of (A)
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3 A woq fu T F B FA (A) M ' H HA (R) F & # fam

2 R T gd 4 ¥ 7 I ghT = ] "
(A) ey wfvem famm <t iR et R
(R) wfer 1 Hhftm wer Al &

(1) ) sk (®) 3 @@ 2 o (R), () B e R

@) (A) 3 (R) o @@ ¥ AR (R), (A) BT e TR
(3) (A) @& 2 3t (R) T T

(@) (A) T B ¥ (R) W OR

133. Given below are two statements. One labelled as Assertion (A) and other labelled
as Reason (R). Select your answer from the codes given below :

(A) Majority of the active volcanoes are situated around the Pacific

Qcean.
(R) Pacific Ocean is the largest ocean.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both () and (R) are true but (R) is not true explanation of (A)

(3) (4) is true (R) is false
(4) (A) 1s false (R) is true

:ﬂ%zﬁmﬁqm‘%l@ﬂﬁwmaﬂiqﬁiﬂwm)%wﬁﬁmwﬁ

53 fo e g2 # @ W@ IW I
(Almmmwm%mﬁmfﬁmg;
(R)Wmﬂmasrnsm%l
(1) (A)eﬂﬂR)?hﬁa'@% A (R), (A) =@ = 2
@ @ M R® a4 =@ 3 At R®), A) £ wd =En T T
g @ w8 2R

3 ot (R @ 3

(4) (A) A
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